2-1. St ot

m 3

O MAE= 1,977 ¢ ('08 2=0iH| 7.3% S7}, 2| BUiH| A24.2% 4L
- Aduks A= 1,721 902 3% D] 2.5%F 7}, HEUH] A28.3% 74
- EW3AE 257990 R AW E FEUH] 56.6%=57}F, HEUH] 22.0%=7}
(Ehel - uigbel, %)
2008 = SLUE(%)
T 2 20094 =
= z = SEITETREE-E T
EAAR 197,735  H|8 184,249 Hlg8 261,023 HI8 7.3 | A242
-] - | 172,052 87.0 167,848 | 91.1 239,971 | 91.9 2.5 | A28.3
£ 4 3 A 25,683  13.0 16,401 | 8.9 21,052 8.1 56.6 22.0
71EFEE 3] ) 25,683  13.0 16,401 | 8.9 21,052 8.1 56.6 22.0
T7AE5E 3 A - - - - - - - -
H T oA E F0l
(2ol @ ofgl)
6,000
4,000 - 2610
1617 2,014 2,005 e02ee ) 1,977
2000 { 1306 (23.8%1) (24.6%“ (‘i’” (A2I4'3%”
2004 2005 2006 2007 2008 2009
¥ 2004~2008H 2 B0 & 7| = (MAH]| SEE)
B = MEXE LT
50.0
(=] : %)
21.5
250 1 19.6 17.2 17.6 17.6 18.0
2004 2005 2006 2007 2008 2009



2-1. St ot

W MY-ME o Mg (e SH)

(Eh9| - uiokel %)
HE =2+ (9

T P00 s: | A= gaie | g
Al 197,735 H|E 184,249 | H|g8 261,023 | H|S 7.3 | A24.2
X g A 5,721 2.9 5,193 2.8 5,665 @ 2.2 10.2 1.0
Moo = 40,338 20.4 33,491 18.2 67,164 25.7 20.4 | A39.9
A A5 S) 8,973 4.5 8,352 4.5 8,897 3.4 7.4 0.9
Al AAA AL+ 31,365 = 15.9 25,139 | 13.6 58,267 | 22.3 24.8 | A46.2
X g m & A 79,649  40.3 72,749 | 39.5 101,456 | 38.9 9.5 | A21.5
, MHE=EdHZ 1,400 0.7 1,200 0.7 1,600 0.6 16.7 | A12.5
2 = 3 70,627 35.7 71,616 = 38.9 85,138 32.6 A4 | A17.0
Eas s 59,584  30.1 60,230 @ 32.7 70,907 27.2 A11 | A16.0
CH R ZEF 11,043 5.6 11,386 6.2 14,231 5.5 A3.0 | A22.4
A & M S = = = - = = - -
UYHt=E S A 12,005 6.1 14,964 8.1 14,578 56 | A19.8 | A17.7
SSE MY et 5,397 2.7 2,564 1.4 11,051 4.2 110.5 | A51.2
ns 5,055 2.6 648 @ 0.4 18,951 7.3 680.1 A73.3
=5t ek 8,388 4.2 7,728 4.2 10,997 4.2 8.5 | A23.7
SAHES 33,049 16.7 29,616 | 16.1 38,980 14.9 11.6 | A15.2
71 AtEI=X| 21,458 | 10.9 17,516 9.5 23,255 8.9 22.5 AT.7
_o=A 1,833 0.9 1,795 1.0 1,976 0.8 2.1 AT.3
3 S sl 2kt 29,745 15.0 30,424  16.5 39,336 15.1 A2.2 | A24.4
2 MeEAYY 3,425 1.7 1,200 0.7 4532 | 1.7 | 183.3 244
Al +&53nsE 11,335 5.7 18,671  10.1 22,795 8.7 | A39.3 | A50.3
TEYX| AN 36,932 18.7 31,074  16.9 41,900 16.1 18.9 | A11.9
- e s - - - - - - - -
= o] 3,314 1.7 3,152 1.7 7,806 3.0 51 | A57.5
7|t 25,800 13.0 24,888 13.5 24,866 9.5 3.7 3.8
Q1 Z4H| 23,956 12.1 23,006 12.5 23,214 8.9 41 3.2
=al] 12,618 6.4 11,164 6.1 12,475 4.8 13.0 1.1
A oA 35,522 18.0 31,177 = 16.9 50,338 19.3 13.9 | A29.4
o MExE 112,629 = 57.0 110,126 59.8 156,273 | 59.9 2.3 | A27.9
© gxgEx - - - - - - - -
2 B - - - - - - - -
L 271 2H 9,478 4.8 5,413 2.9 9,950 3.8 75.1 N4T7
ofH|H| 27| E} 3,531 1.8 3,363 1.8 8,775 3.4 5.0 | 259.8




O duts|A

(chel - syabel %)
EE SUS(

T 2009 % T e 5 = gichg;/;ch
A 172,052 | H|8 167,848  H|8 239,971 | H|g 4.4 19.3
N gt A 5,721 3.3 5,193 3.1 5,665 2.4 10.2 1.0
A2 = 25,283 | 14.7 24,402 | 14.5 53,721 @ 22.4 3.6 | 2529
A AL 7,207 4.2 6,669 4.0 7,367 3.1 8.1 N2.2
A PR A A2l 18,076 = 10.5 17,733 | 10.6 46,354 | 19.3 1.9 | 2A61.0
X g m & A 79,649  46.3 72,749 | 43.3 101,456 | 42.3 9.5 | A21.5
, MEEAE 1,400 0.8 1,200 0.7 1,600 0.7 16.7 | A12.5
2 = 3 59,999 34.9 64,304 38.3 77,529 | 32.3 NB.T | A22.6
Ea s 49,551 = 28.8 53,189 | 31.7 63,572 | 26.5 AB.8 | A22.1
CH R T 10,448 6.1 11,115 6.6 13,957 5.8 AB.0 | A25.1
XA & M S = = = - = = - -
Yt SHH 12,005 7.0 14,964 8.9 14,578 6.1 | A19.8 | A17.7
S A Lo 5,397 3.1 2,564 1.5 11,051 4.6 110.5 = A51.2
ns 5,055 2.9 648 = 0.4 18,951 7.9  680.1 A73.3
==talzhy 8,388 4.9 7,728 4.6 10,997 4.6 8.5 | 2237
SAHES 20,172 | 11.7 19,340 | 11.5 26,116  10.9 4.3 | ~22.8
71 AtEIEX 20,771 | 121 16,901 | 10.1 22,508 9.4 22.9 AT T
_o=A 1,833 1.1 1,795 1.1 1,976 0.8 2.1 AT.3
S S 2ol 2kt 29,745  17.3 30,424 | 18.1 39,336 | 16.4 N2.2 | A24.4
E RPN R L 3,425 2.0 1,209 0.7 4,532 | 1.9  183.3 A24.4
Al =53 s 11,335 6.6 18,671  11.1 22,795 9.5 | A39.3 | A50.3
= ESIX| oyt 25,708 14.9 26,496 | 15.8 35,364 | 14.7 AB.0 | A27.3
- e s - - - - - - - -
= of v 3,314 1.9 3,152 1.9 7,806 3.3 51 | A57.5
7| Ef 24,906 145 23,956  14.3 23,961  10.0 4.0 3.9
bkall 23,070 13.4 22,085 13.2 22,253 9.3 4.5 3.7
=xall 11,559 6.7 10,282 6.1 11,568 4.8 12.4 A0.1
A oA 34,439  20.0 30,177 = 18.0 49,223  20.5 141 | A30.0
o MEXE 92,250  53.6 99,178 | 59.1 140,912 | 58.7 AT.0 | A34.5
=TT - - - - - - - -
g EMxe - - - - _ _ - _
L2 7,421 4.3 2,974 1.8 7,511 3.1 149.5 A2
offu|H| 7| Bt 3,314 1.9 3,152 1.9 8,505 3.5 51 | A61.0




O EH3A
(k9| whokel %
EE EE1

TE 20095 g = N 5 = gichg;/;ch
Al 25,683 @ H|E 16,401  H|8 21,052  H|g 56.6 22.0
x| g A = = - - - - - -
Moo 15,055 @ 58.6 9,089 @ 55.4 13,443 | 63.9 65.6 12.0
RS Rt 1,766 6.9 1,683 | 10.3 1,530 7.3 4.9 15.4
Al AA A A & 13,289 = 51.7 7,406 | 45.2 11,913 | 56.6 79.4 11.6
X gt m 2 A = = - - - - - -
MY EN S - - - - - - - -

ol
2 = 2 10,628 = 41.4 7,312 | 446 7,609  36.1 45.4 39.7
A = 10,033 = 39.1 7,041 429 7,335  34.8 425 36.8
THH 595 2.3 271 1.7 274 1.3 1196 | 117.2
X g & 5 = = = = = = = =
detZZUH - - - - - - - -
SZEM Y ok - - - - - - - -
s - - - - - - - -
==talzhy - - - - - - - -
BAES 12,877 = 50.1 10,276 = 62.7 12,865 @ 61.1 25.3 0.1
71 AtEI=X| 688 2.7 615 = 3.7 746 3.5 11.8 AT.9
L - - - - - -
HIECE -1 - -1 - -1 - - -
2 del-mavd - - - - - - - -
+5YnE - - - - - - - -

Al
S EX| A7t 11,225 | 43.7 4,578 | 27.9 6,536  31.0 @ 145.2 71.8
. et & - - - - - -
= ofl 1] - - - - - - - -
7| et 893 3.5 932 5.7 905 4.3 A4 A A1.3
21 Z1H| 886 3.5 921 5.6 960 @ 4.6 N3.8 AT.7
=pall 1,060 41 882 5.4 907 4.3 20.2 16.9
A Aol 1,084 4.2 1,000 6.1 1,115 5.3 8.4 N2.8
o KEXE 20,379 = 79.3 10,948  66.8 15,361 = 73.0 86.1 32.7
=TT - - - - - - - -
E HAMAY 2 - - - - - - - -
L 271 2H 2,058 8.0 2,439  14.9 2,439 116 | ~A156 | A15.6
C LIS 217 0.8 211 1.3 270 1.3 2.7 | A19.7






